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Encontrando el promedio de dos nimeros

Nombre;

Encuentra el promedio del par de nimeros.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

58 & 63

922 & 701

57 & 65

46 & 91

61 & 63

799 & 988

36 & 56

79 & 80

31& 41

64 & 66

95& 79

24 & 30

70& 80

253 & 600

764 & 493

65& 72

85& 34

66 & 67

71& 79

275 & 279

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas
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Encontrando el promedio de dos nimeros

Nombre: Clave De Respuestas

Encuentra el promedio del par de nimeros.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

58 & 63

922 & 701

57 & 65

46 & 91

61 & 63

799 & 988

36 & 56

79 & 80

31& 41

64 & 66

95& 79

24 & 30

70& 80

253 & 600

764 & 493

65& 72

85& 34

66 & 67

71& 79

275 & 279

121 +2=60.5

1,623 +2=2811.5

122 +2=61

137 +2=685

124+ 2 =62

1,787 +2=893.5

92+2=46

159+2=795

72+2=36

130+2=65

174 +2=87

54 +2=27

150+2=75

853 +2=426.5

1,257 +2=628.5

137 +2=685

119+ 2=595

133+2=66.5

150+2=75

954 +2=277

Respuestas

1 60.5
2. 811.5
3, 61

4 68.5
5 62

6. 893.5
7 46

8 79.5
9 36
10. 65
11. 87
12. 27
13, /5
14.  426.5
15, 628.5
16. 68.5
17. 59.5
18, 66.5
10, 75
20. 277
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